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12 2. Write short answers to any SIX (6) questions : o AR AL oy (6}{.:4;; 2
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(i) Simpiify : x52 = (xs}z :Ef::;? (i)

x+iy+i=4-3i flﬁrsb"._f‘f;; y o x i)

(ii) Find the value of x andy if x+iy+1=4-3/

(iv) Find the value of x: loggs 8= % g o FEx (0)
(v) Tind the value of xif : logx =0.1821 - /ﬁ":‘,‘l:(:b’m—f.,}/ x (V)
(s 3 o
(vi) Simplify : {2 + 1—) (\E - l~‘ B2 (5]
I—:‘ - gl Ji t Nl F k ‘J_3 \’3 )
D TP T E N ind x4+ = b I REBEHGRIS Gid
X x i
(viii) Factorize : 4x® +12x+5 : : z-fdj (viii)
(ix) Factorize : ¢ A EZ¢F (i)
12 3. Write short answers to any SIX (6) questions : : Z".‘;.«&'E /'y L =iy (6){5{1:( 3
X2 —x— % —25x+100 i:‘f.é'_f:b";,g I3l UM S Pk (D)
(i) Find the L.CM. of th ssions by factorization X2 -25x+100 and x> -x—20
(ii) Solve the inequality : 4 - %x -7+ % x :’_é._,"f.—.isuj (i)
W =9 =
(iii) Solve the equation : 2 B : &u”:f.:blr (iii)

2
W G S y=mxcte y(...—.!r.-*;_'i(d: (iv)
(iv) Find the values of m and ¢ of TC line by expressing in the form y=mx+c ;

2x—3y=-5
(v) Draw the graph of x=-3 -2__.&._3!)? x=-3 =bls (W)
A(6.-2),B(6,-3) & lbgenlunzlie (v)
(vi) Find the distance between the points: A (6,-2),B(6,-3)
A(2-61.B(3,-6) Erb il ntis Bl kdusal i (vi)
(vii) Find the mid-point of the line segment joining each pair of points : A(2,-6),B(3,- 6)

(vith) (Deéfind éang;ﬂéﬁt triangles. I%Egﬁftﬁ‘ﬁ{? (viii)
(ix) Define parallelogram. -f‘f—:——‘l’/;L(C 'l'iilldjls"’ (ix)

12 4. Write short answers to any SIX (6) questions : : &f&}lﬁ /# L =iy (6){:.411( 4
_.’;f::l‘!‘".:-u_?;}( ‘m’x’ r:L"’Eut LNO » LMO c}@f"J l.?"‘?:j- )
(i) Tn the given congruent tnangles LMO and I.NO.LFinLI the unknown valug of “ x *and *m ",

(2—'(}:!)




4

L

oS

4

-~

4

4

g

@ iy
Resuliviiee« < Lotion ram 3 gt R eSuE @ 4
4. (i) 17 3cm and 4em are lengths of two sides of a i ght angled triangle, then what should
be the third length of the triangle? A =
(iii) Define similar triangles. 2o S e ke (i)
(iv) Verify that the measures of sides arc W W E AT O 2, S22 Y (i)
right angle or not : )
a=15cm, b=2cm. c=25cm

.

(v) Find the unknown value of ‘X’ in the ﬁg'ure:cﬂ 3 :&"(;h”;g.u et (V)

I cm > b e
(v1) Define interior of 2 triangle. _ Yol e ot 22 (vi)
(vii) Find the area of figure : g S¢m D&k 36 (vid)
3cm L
(viii) Define centroid. S A (i)

mﬁ:ch,mR:iZcm,méA:«iS“ D AV ek AABC (ix)
(ix) Construct AABC in which : mAB =3cm . mAC =32em , ms A = 45°
= It.pk (earT-1Ipn.2) Result.nk
Result.p ¢ esult.p

- Note 1 Attempt THREE questions in all. -e$39 /I;Jlrcl‘-a-a‘_ﬂ’al_ylﬂ):.c.«ﬂlruﬂf SO
But question No.9 is Compulsory.

5. (o) Solve the system of !"éu"c_.md,uﬁl?ﬂ_’.ﬁffuﬁ_ELu?l:lf-‘f-::'f £2) .5
linear equations by the Cramer's rule :
6x-2p=8
Sx+ y=-4
% a\f“’b (b B . ¢ ye=a
(b) Show that : I—}- I X x_c) '—ra— « =1 =f$d=f.':‘ (o)
X ’) K g :'I'
T P
6. (a) Use log table 1o find the value of: _{j}_ﬁL_DDSﬁ - O u.;,l'd.ogr‘;,t’,f M) 6

(ag)'
_gph’.:afdfx}+—]¢- In g+ lash (<)
x x

(b) 1r Jr+l =3, then find the value of x° I-—%
X x

7. (a) Factorize the polynomial by factor theorem : A el g () 7
55
X -2 —x+2

(b) Find L.C.F. by division method : 2l Fr e i (L)
<78 Bl P o
Result.pk »+¢ -2 +x-3,52 4321724 Result.pk
8. (a) Solve : —554‘—23£<I 2 () 8
{b) Construct AABC and draw 2::'{ LAY L & izt A ABC (9

perpendicular bisectors of the sides of triangle :
mAB=4cm ,mBC = 4.8cm , mAC - 3.6em _
-._,{_tz.nﬁr‘?.}‘h::ug:f}._;:f ba’-“f[@.;;:t‘ 9
9. Prove that the biseclors of the angles of a triangle are concurrent,
OR L
..I.;‘L))f.’_f.{ud,.';lng)!f;:l/,{;ﬁ.:":ﬂ;ﬁ‘?&J?u;:'b(.:f.ra-{n.“_cf'
Prove that triangles on equal bases and of cqual altitudes are equal in area,
176-024-11(Essay 'I'ype)‘r’ggm



